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Lecture 21 Line Integrals 2
Chapter 4 Vector Calculus
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1. x = cos(2t),y =sin(2t) &m3uNn ¢ € [0, %]
2. x =cos(t?),y = sin(¢?) ﬁ’]‘lﬁ%U‘V!ﬂ te [O,
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3. x=cos(—t),y = sin(r) ﬁ’]‘Vi%JUVqlﬂ re [37”,

4. x=t,y=v1-2 dmiun r € 0,1]

'ABD12: Section 15.2 : 1(b), 2(b), 7-10, 11(b,0), 12(b,c,d), 13, 14, 17, 23-30, 33-34, 35-36,
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Usenou f(x,y) haz g(x,y) Nl
F(x,y) = f(x,y)i+g(x,y)]
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L Cir(t)=-Fi+1j (1< <2)

2. C:r(t)=ti+13j (-1 <t <2)
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P98 NUIVDIUNTIIUTAUT UnAnwaunsaAnwiuLAnlaaIn Anton et al.
(2012) 11 1105 - 1106

A78814 3. PMNNUNANINATIUNTBIUNIATAATOUTLUALLEULAY y = X% 31
A (—1,1) U89 (2,4) Tuauiuuss Flx,y) = B3yi+ (x—y)j
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x=x(t), y=y() warz=z(r) @WNUNN 1€ [a,b]

warl £(x,v,2), g(x,y,2) wag hx,y,z) \Wuilanduseifiosuu C
USWusaudu (line integral) 989 £ U C WigU x MnUAlaY

[rtnan= [ 700,200 @
USWuSAuLdUY (line integral) ¥89 g VU C Wigu y muualag

[ty = [ g(at0),50), 20 ()
wazUIWusasLdu (line integral) ¥84 2 VU C Wiy z Anualag

[t 2= [ hx), 300,202 0

19g9lULa D1AD9NISATUINUS NUS MUELLTBU X,y WaY z WiPUAU 1519
VUL

/Cf(x,y,Z)dx+g(x,y,Z)dy+h(x,y,Z)dz:=/Cf(x,y,Z)dH/Cg(x,y,Z)dy+/ch(x,y,Z)dz

A29819 4. AMNNUNARINLATEUNTDIBYNATIARUTIUAAEULAT £+ 2 +
k 97039 (0,0,0) TUde (1,1,1) Tuauiuus

F(x,y,2) = (y—x%)i+ (z—»)j+ (x—2*)k



